FgArea: [0 ]
NC11 P3-9
2025-05-10 (Day 38)




o<
rﬂl
— -
Cs
— o
> >
I
T T
o o o o o o o
= o ) oS =) o
1Y S o © < I

35

30

25

20

15

10



VN

20

15

10

1000 -
800 -
600 -
400 -
200 -






1200

1000 ~

800

600 -

400 -

200

1 VI vs Du

0§

T T
1500 2000
DU

T
2500




FR

35

30

25

20

15

10

0.5 -
0.4 -
0.3 -
0.2

0.6 -
0.1 -



1 setVI

:

35

30

25

20

15

10

175 4
150
125 A
100
75 A
50
25



1 (fgArea = NA)

4500

4000

| —@— ECI*10%

—0— ECO

3500

3000

A

e

2500

2000

1500

10

15

20

25

30



—&— PHI*10%

7.54 ~®— PHO

7.0
6.5
6.0

5.9

35

30

25

20

15

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I
3500 + EcFZEXp : DOOOOOOOOOOOOOOOOOC OOOOOOOOOOOOOOOLOOOOOOOOOL OOOOLOOOOOOOOOLOOOOOOOOOOOOLOOOOOOOOOOOOOOOOOOOOOOOO OO
3000 { ¢ FECdef | 586352
—>— water_ec |
2500 e T X 1  / ) "
M I DOOOOOOOOO0O0
2000 :
1
1500 |
xooooo?x !
1
1000 I
1
Warning: col [ EcFgro’ 1 'EcPltng’'] is missing

500

25

50

75

100

125

150

175
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-9 0
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